11. sinx=

13.

5.5 HW Answers
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2. lan%:«ﬁ
Jj = ﬁ is true.

T . .
1 — 1s a solution.
3

4. sin— =

is false.

T . .
Thus, = is not a solution.

6. c054—)r = L
3

——=—— istrue.
2 2

ar . .
Thus, — is a solution.
3

V3

. T 3 .
Because sm? = %, the solutions

'.‘
for sinx = % in |0,27) are

Because the period of The sine function is 27, the
solutions are given by

b4 2
i= ? +2nT  or x= _3 +2nmw

where n is any integer.

tanx =1

T .
Because tan I =1, the solution

for tanx =11 LT is
A7\ (22

4 Y
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8. cosiz—l
2

1 1.
——=—— 15 true.
2 2

. 2 . .
T'hus, e is a solution.

b4 Fid
10. cos—+2=«f§-sin—
6 6

J3 I
—+2=+3.-—
2 J_ 2

443 _\3
N

=

is false.

T, .
Thus, —( is not a solution.
D

12. cosx=—

ol

J3

T . .
Because cos g = 7 . the solutions

3
forcosx =— in [0,27) are

6 6 6

Because the period of the cosine function is 27, the
solutions are given by

b2 1z

Xx=—+2nr or x= +2nx
6 6

where n is any integer.

14. tanx= ﬁ

T .
Because tan g = \ﬁ the solution

for tan ,r:\fg i ) is



for tanx =1 ip4g, 7) is for tanx=+/3.i ) is

Because the period of the tangent function is #, the Because the period of the tangent function is 7z, the
solutions are given by solutions are given by

=~ T

e I+ e X = E-Hm where n is any integer.

where n is any integer.

15. cosx:—L . \E
2 16. smx:—T
T o1 .
Because cos— =—, the solutions o 2 )
3 2 Because sin— = ——, the solutions
| 4 2
for cos x =—— in [0,27) are 2
2 for sinx=—-— in[0,27) are
7 3n 2
A=A T T r 4r nxf 5r
x=r+—=—+—"FE"
cersZoE L
3 3 X =2;r_£=8_x_jr

Because the period of tHé cosine function is
27, the solutions are given by

2 4
i =y +2nr or x= - +2nm

Because the period of theSine function is 27, the

solutions are given by

S L
xX=—+2nr or x=—+2n1
4 4

where n is any integer. . .
where 7 is any integer.

17. tanx=0 19. 2cosx++3=0
B se tan0 =0, the soluti
ecause tan e solution 2cosx = —3

=0Qin[0,7) is

NG
COSX=—""
2

Because the period of the tangent function is 7, the A
olutions are o Vi3 3 .
solutions are given by Because cos— =——, the solutions
x=0+nr=nrx
where n is any integer.

for cosx =_T3 in [0,27) are

18. sinx=0
Because sin0 =0, the solutions

Qin [0,27) are

Because the period of the cosine function is 27z, the
solutions are given by

. .. St s ,
od of the sine function is 27, the C=—2nxr or x= ?+ 2nrw

” - 6
solutions are given by h . int
x=0+nr=nr or x=x+2nw WRETE 1S any integer.

where n is any integer.

20. 2sinx++/3=0 21. 4sin@—1=2sind

— - - -
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20.

2sinx++/3=0 21.

2sinx=—\f§
NG

sinx=———
2

. T 3 )
Because sm—=§. the solutions

for sinx = —ﬁ in [0,27) are

T 3 T
X=n4+—=—+—
3 3 3

T 6mr
x=2r =

3 3 3
Because the period of the sine function is 27, the
solutions are given by

4z 5 Sx
X=—+42nr or x=—+2nmw
3

where n is any integer.

5sinf+1=3siné
S5sin@—3sinf =-1
2sinf =—1

22.

. 1
sin@ =——
2
A .
Because sm—:E, the solutions

for sin@=—-— in [0,27)_are

Because the period of théssire function is 27, the

solutions are given by

I 11z
8d=—+2nr or 8= +2nm
6 6

where n is any integer.

Tcos@+9=-2cos 8
Tcos@+2cosl =-9
9cosf =-9
cosl =—
Because cos . = -1, the solution

for cos@=—11in[0,27) is

24.

X =T
Because the period of the cosine function is 27, the
solutions are given by
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4sin@—1=2sin @
4sin@—2sinf =1

Because sin—=

for sin

Because the period of the

2siné =1
. 1
sinf=—
2
T 1 .
—, the solutions
6 2

7] :% in [0,27) are

solutions are given by

T
O=—+2nr or 6=

where n is any integer.

23. 3sinf+5=-2sind
3sinf+2sin@=-5
Ssin@ =-5
sinf =-1
. .
Because .‘sm5=l. the solutions
for sin@=-11in[0,27)
T 2t
O=mr+—=—+
2
4
gorg FAT T
2 2
Because the period of the=me function is 27, the
solutions are given by
"J,
= 2y 2nr
2
where n is any integer.
86. sinx=0.7392
Be sure calculator is in radian mode and find the
inverse sine of 0.7392. This gives the first quadrant
reference angle.
(g =sin"'0.7392 =0.8319 )
The sine is positive in quadrants I and II thus,
X:= or x=m-0.8319
x =2.3097
87. cosx=-——



X=T.
Because the period of the cosine function is 27, the
solutions are given by

f=r+2nr

where n is any integer.

88.

89.

A

87.

LIS

o

4
COSXN=——

7
Be sure calculator is in radian mode and find the

4

inverse cosine of +? . This gives the first quadrant
reference angle.
6 =cos™' % = 0.9626

The cosine is negative in quadrants Il and III thus,

x=1-09626 or x=m+0.9626
x=2.1790 x=4.1041
tan x = -3

Be sure calculator is in radian mode and find the
inverse tangent of +3. This gives the first quadrant
reference angle.

6 =tan"' 3 =1.2490

The tangent is negative in quadrants II and IV thus,
x=m-12490 or x=27-1.2490

x =1.8925 x=5.0341
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90.

A= L.IUFY

Cosx=——
5
Be sure calculator is in radian mode and find the

”
inverse cosine of +=. This gives the first quadrant

reference angle.
6 =cos™' % ~1.1593

The cosine is negative in quadrants II and III thus,

x=x-1.1593 or x=m+1.1593
x=1.9823 x = 4.3009
tanx =-5

Be sure calculator is in radian mode and find the
inverse tangent of +5. This gives the first quadrant
reference angle.

f=tan"'5=1.3734

The tangent is negative in quadrants IT and IV thus,
x=x-13734 or x=2m-13734

x =1.7682 x = 4.9098



